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If D is the difference between the ranks of each B oS o O (2 <o\S 13
corregponding values of the two Variab1§s X and Y 02 ¢ o op il 3,5 )
, 2. D= = 0 ,then the correlation coefficient ( 7°) ) G st 3T -
between X and Y equals ............ LUl delae 0B ao= 28085

.......... k;j\“guécwg}:f(t/‘)
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A box contains five identical cards numbered from | 4e3,0 dilate DBLa yuad- 4 Bodio

1 to 5. Two cards are drawn one after another with S5 35 OBl o © 0 i
.replacmg. Find the probability: ‘ ezt sl ¢ I3 o ey
i) The sum of the two numbers on the two cards is o Al sl . }Q ) (i)
a prime number. 2 o ,t—j . e
i) The product of the two numbers on the two Mghlous opllad) d\" -
cards is less than seven if their sum is a prime 0 s ol 055G Ol (1)
number. 3LV e BT cpladl e oy alla))
Qs lege samae 08

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi



YoAA/ YAV oty alatt - J 9% 5931 - (A julo M1 ASML) o liao M1 -d_alall Ay g3 Al yAl) ALY 3aLg & Lseial
ol al N g

YoM/ YoAV Jo%1 5ot - A polt Aol Adead



YOAM YWY ol yAl AL al) - 9% 591 -(A sulod M1 ASMILY) o Luasm 1 -A—olLadl Ay g3 Al y Al AL B3lgs GLsriol

If X is a continuous random variable whose prob- 35 Waze L.,\ i 1 Taze ~r O 13

ability density functloln is: oo s S
X+
e <x< Lo e
f(x):{lz )0_x_4‘ i>u‘“> v }:(w))
zero ,0therwise s Ld ¢ e

Find: () P(x <2) (i) P(2 <x < 5) (¥ >~ ) J (1) 2
(0 >~ >v)J (i)
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B crap=;.pB)=2,

then P (ANB) =
il
25

W ()= D) JOS )

gl Sl “(e NYY ok
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If X is a discrete random variable whose range is Wiz 51 e Vmiie o O 13)
{0,1,2} ,then all of the following functions does
not represent its probability distribution function
except the function ..............

J‘ju\@.&}dp {YeNestolus
4gw>vxéjjﬁ\a\>wvagv\
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E Answer only one of the following items: 3 O W (oG 20N Gk | (e |
A) If X is a normal random variable whose mean | Gad Glsie \ame ~ O 131 ()
p =15 and its standard deviation ¢ = 5 such adl sty Vo= [ plusdl alaws

that P (X <k ) =0.1587, then find the value 0=0 5 Ll

ofk VAV = (8> ar) J Eesu
B) If the lengths of 1500 students follow a normal 2 el d

distribution whose mean is 175 cm and its o5 I o Sisbl ol 13 ()

standard deviation is 5 c¢m, find the number of = Ve dawge Lad W)g
students whose lengths are more than 180 cm. Ao g . e © (6 Ll 4Bl gesip

v@)\}ﬁ L3P el Ol sae
~ \A- L;\.C—
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If A and B are two independent event such that : 1089 pilitns il O P8 13
P(A)=02,PB)=0.6,then P(AUB)=............ B -LT=(Q)d ¢ Y=Y

............... - (UMY

@ o.12 b 032 @ D
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E If Z 1s a standard normal variable such that : Ul B bt ans ~p OIS 134
P(—a<Z<a)=0.874,thena=......... GAVE= (P> e =Py e
............. =Pl
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n From the data of the following table:

(SNl bl (e
X | 60 | 50 10 20 | 30 | 40 g v [yve [y [oe [ ] e
Yy 18 |90 | 50 | 60 | 70 | 80 ¥ KT v v v v e
Find Sperman’s rank correlation coefficient :
bed 330 LU Jelae )
between the two variables X and YV and determine Oleerad 37 :J e ’
its type . WP 24907 ¢« U O
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Find the mean and the standard deviation of the oo bl By Jaw gzl uas]
random variable X from the following probability (S Sl S 3
distribution:

Xy 0 1 2 v v \ A
° \ \ \
% . 1 B, W v e P V)
fGer) 6 12 3 12
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In the experiment for tossing a regular coin twice, O e delatie 59 dabad (W) &y 23 B

the probability of appearing a Tail in the second toss DS ) aebs Szt ¢tz
if a Head appears in the first toss equals : ............ QM B8y gm0 yglo 13] A5 A
.................... & o\ éjﬁ\

\ \

N |-
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If X is a normal random variable whose mean (1) | Uanb Bl g tie (3 e O 13

and its standard deviation (¢ ), O Soladdl 4l 251y W alaw gt
thenP(x >p+1.506)=.......... (OV, 0+l ~*)Job
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Answer only one item from the items of this P ol PN = LS
questions : (el =" X v 2K
If: Yx=6,%y=21,%x2=76,Yy*=91,Yxy=56andn=6 1= 01z e v &

Find : (first) Th 1 ffi b s LG o yaal i | (e e (B
ind : (first) The correlation coefficient between ooy
the values of X and Y O s S s >~ ol Yo

(second) The regression line equation Y on X L

(o G 2 sl Lo Dslas sl 06
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